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JHARKHAND PUBLIC SERVICE COMMISSION

Model Answer key of Assistant Engineer'(Civil, Mechanical and Electrical) Examination, Advt. No. 08/2018 And Advt. No. 08/2019
Paper- General Ability Test
Series-A Series-B
Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct
No. | Option [ No, Option No. | Option | No. Option | No. Option No. | Option No. Option No. Option
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Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct
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JHARKHAND PUBLIC SERVICE COMMISSION
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Model Answer key of Assistant Engineer Examination, Advt. No. 08/2018
Paper- I (01) Civil Engineering

Series-A Series-B
Q. Correct Q. Correct Q. Correct Correct Q. Correct . Correct Q. Correct Q. Correct
No. [ Option [ No. Option No. | Option . Option | No.| . Option Option No. Option No. Option
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Series-C Series-D
Q. Correct Q. Correct Q. Correct . Correct Q. Correct Correct Q. Correct Q. Correct
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Model Answer key of Assistant Engineer Examination, Advt. No. 08/2018
Paper- II (02) Civil Engineering

Series-A Series-B
Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct Q. Correct
No, | Option | No. Option No. | Option | No.| Option | No. Option No. Option No. Option No. | Option
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Series-C Series-D
Q. | Correct | Q. Correct Q. Correct Q Correct Q. Correct Q. Correct Q. Correct Q. Correct
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~ : JHARKHAND PUBLIC SERVICE COMMISSION
Model Answer key of Assistant Engineer Examination, Advt. No. 08/2018

Paper- I (01) Mechanical Engineering

Series-A - I Series-B
Q. Correct Q. Correct Q. Correct Q. Correct Q. Carrect a. Carrect Q. Correct . Correct
No. | Option | No. Option No.| Option |No.| Option |No, Option No. Option No. Option No. Option
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JHARKHAND PUBLIC SERVICE COMMISSION

N
Model Answer key of Assistant Engineer Examination, Advt. No. 08/2018
Paper- II (02) Mechanical Engineering

Series-A Series-B
Q. Correct Q. Correct Q. 'Correct Q. Correct Q. Correct Q. | Correct Q. Correct Q. Correct
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